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Q1 Which crops does not come under kharif crops?
Ans X 1. Rice
o 2. Wheat
< 3. Makai
< 4. Bajra
Q'2 “ - . - J ) .
Name the lime which is commonly used in white washi Question ID : 7508811615
Ans  of 1. Fat lime . Status : Answered
< 2. Slaked lime Chosen Option :2
& 3. Hydraulic lime *
< 4. Quick Lime \
Q3 : Sri : : 4 o
Which of the following instrument is uged for 2 ement of angles? Question ID : 7508811636
Ans X 1. Geodimeter Status : Answered
# 2. Tellurometer Chosen Option -1
W 3 Sextant
X 4. Teles
Q4 PR - ;
Plasticity in s defined as: Question ID : 7508811644
Ans ( 1. ]jquid and plastic limit Status : Answered
Chosen Option :1
/< 2. plastic limit and semi-solid limit
#< 3. liquid limit and solid limit
< 4. semi-solid limit and liquid limit
Q.5 Which of the following pump is successfully used for lifting water to the turbines?
A Question ID : 7508811658
ns X 1. Air lift paamp Status : Answered
. Ch Option : 2
/< 2. Centrifugal pump osen =pien
# 3. Reciprocating pump
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W 4. Jet pump
Q.6 The volumetric change of the fluid caused by a resistance is .
. Question ID : 7508811663
Ans X 1. yolumetric strain Status : Answered
x 2. adhesion Chosen Option :1
' 3. compressibility
< 4. volumetric index
Q7 ‘ ’ L
A mono pump is also known as: Question ID - 7508811661
Ans x 1. Piston Status : Answered
) Chosen Option : 2
# 2. a group of vacuum
& 3. Centrifugal
'+ positive acting rotary
Q8 . ; !
The correct volume measured should be nearest to: QuestionID : 7508811622
Ans o 1. 0.01 cum tatus : Answered
X 2 0.02cum n Option :1
< 3 0.04cum
< 4 0.03cum
Q9 Y - .
The final setting time of ordinary cement ¥ Question ID : 7508811613
Ans x 1. 4h Status : Answered
* Chosen Option :2
v'2 10h \
K3 6h 0
K 42h
Q.10 i g
Due to the shear plastic untrained clay. Question ID : 7508811648
Ans X' 1. pone of thes Status : Answered
3 : i Chosen Option :2
& 2. inter-gra iction
v 3 co
< 4. interna
Q11 Velocity distribution profile for laminar flow between parallel plates is: .
Question ID : 7508811673
Ans ( 1. Parabolic Status : Not Attempted
X 2. Linear Chosen Option : --
#< 3. Constant
# 4. Logarithmic
Q12 e . .
The unit for damp proof course (D.P.C.) is: Question ID : 7508811623
Ans x 1. Millimeter Status : Answered
Chosen Option : 3

< 2. Centimeter
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+ 3. Square meter
#< 4. Cubic meter
Q.13 The soil mass under consideration represents when the degree of saturation is zero.
) Question ID : 7508811654
Ans 1. two phase system with soil and water Status - Answered
' 2. two phase system with soil and air Chosen Option :1
< 3. three phase system
/< 4. one phase system
Q14 . T ; :
In a centrifugal pump. the liquid enters the pump: Question ID : 7508811659
Ans X' 1. At the center Status:
x h Chosen Option :
2. At the top
#< 3. From sides
v 4. At the bottom
Q15 : il i .
A fully saturated soil is known as: tion ID - 7508811650
Ans 1. two phase system with soil and air Status : Answered
. Chosen Option :4
< 2. three phase system
< 3. one phase system
; . *
' 4 two phase system with soil and wa
Q16 _—r ; : Ty 5
Wt is relative density of sand if the sand in-situ’n est state? Question ID : 7508811647
Ans x 1. Zero Status : Answered
( 2.1 Chosen Option :1
# 3. between 0 and 1 L 2
/< 4. greater than 1
Q17 . .
The correct are should be nearest to: Question ID : 7508811620
Ans 1. 0.05s Status : Answered
x 0.0 Chosen Option :2
2.
/< 3 0.04sqm
v 4 0.01 sqm
Q.18 1 1 T 2 e
Which of the following does not have unit as square meters? Question ID - 7508811625
Ans x 1. DPC. (Damp p‘E‘GGf CDIII'SE] Status : Answered
; Chosen Option : 4
# 2. Form works
# 3. Concrete Jaffries
« 4 R.C. Chhajja
Q.19 The property by which the molecules of fluid are attracted by their own is called as
Question ID : 7508811664

Ans
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< 1. surface tension
v 2 cohesion
< 3. adhesion
< 4. viscosity
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Status : Answered
Chosen Option : 2

Q20 The Black marble is found in
Ans  of 1. Jaipur

< 2. Jodhpur

< 3. Jaisalmer

#< 4. Jabalpur

district.

Question ID : 7508811614
Status : Not Attempted
Chosen Option : --

Ans

< 1. Percentage voids
#< 2. Void ratio

« 3. Degree of saturation
< 4. Porosity

Q.21 The ratio of the volume of water present in a given soil mass to the total volume of its voids. is known:

Question | 1646
red
Chose tion

*

of the parent channel known as?

Ans X 1. Semi-Module

Q.22 What is the ratio of the rate of change of outlet discharge to the rate of change of discharge

Question ID : 7508811680
Status : Answered
Chosen Option :4

Ans  of 1. 2n+4 .
X 2 nt+2
X 3. 4n-2
< 4. 2n-4

v 2. Flexibility ¢
#< 3. Sub-Proportionality . \
/< 4. Sensitivity
Q.23 What will be the sum of exterior angles of a closed revers the number of sides?

Question ID : 7508811634
Status : Answered
Chosen Option :1

Q.24 What will be the infiligati
Ans X 1. more infiltration capacity
+ 2. equal to infiltration capacity
#< 3. equal to rate of rainfall
/< 4. more than rate of rainfall

intensity of rainfall is more than the infiltration capacity of soil?

Question ID : 7508811671
Status : Answered
Chosen Option :1

Q25 Draining of shallow pits is done by
Ans o 1. single stage vertical
X 2. diffuser
#< 3. plunger

X 4. centrifugal
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pump.

Question ID : 7508811660
Status : Answered
Chosen Option : 4

4/36



25/03/2017 Qp.html
Q.26 The line perpendicular to the meridian to projection of a traverse is .
Question ID : 7508811641
Ans o 1. departure of the line Status : Not Attempted
’ : £ Chosen Option : --
/< 2. bearing of the line P
#< 3. co-ordinate of the line
< 4. latitude of the line
Q.27 The actual size of modular bricks is according to Indian Standards Institute.
Question ID : 7508811629
Ans ( 1. 19¢cm x 9 cm X 9 cm Status : Answered
X2 20em = 10 cm ¥ 10 em Chosen Option : 1
K3 23cmx11.5¢cm % 7.5 cm
/X 4 25¢cm x 13 cm % 7.5 cm
Q.28 A centrifugal pump delivers a liquid when pressure rise in impeller is equal to
Ans X 1. kinetic head
& 2. velocity head
# 3. static head
+ 4 manometric head
Q.29 . L !
"Turning point" includes: Question ID : 7508811635
Ans x 1. back Siﬁl‘lt Gﬂl}' Status : Answered
- Y Chosen Option :3
/< 2. foresight and intermediate sight \
' o foresight and back sight  #
< 4. foresight only Q\
Q30 Peirimg 3 :
Priming is useful in a pump. Question ID : 7508811662
Ans J 1 CEI]tI‘ifilgﬁl Status : Answered
. Chosen Option :2
< 2. reciprocatin
< 3. diaphrag
< 4 ge
Q.31 : :
An ideal fluid should be Question ID : 7508811667
Ans X 1. viscous and incompressible Status : Answered
Chosen Option :2
' 2. in viscous and incompressible
& 3. in viscous
& 4. incompressible
Q.32 : : & i SR s
A quick setting cement has an initial setting time of about: Question ID - 7508811607
Ans  of 1 5 minutes Status : Answered
. - Chosen Option :1
#< 2. 15 minutes
#< 3. 40 minutes

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

5/36



25/03/2017 Qp.html

< 4. 50 minutes

Q33 golid earth and its interior is known as:

Ans

#< 1. Thermosphere

Question ID :
Status

7508811681

:Answered

: Chosen Option : 2
v Lithosphere
< 3. Mesosphere
< 4. Atmosphere
Q.34 The expected out tumn for earth work in excavation in ordinary soil per labour per day is:
A Question ID : 7508811626
ns ;
J 1. 3.00 cum Status : Answered
x 2. 200 cum Chosen Option :1
/3 4.00cum
<4 1.00cum
Q35 ioining tw ' - - ;
For joining two gradients. an ideal vertical curve should be Questi 7508811638
Ans x 1. Elliptical Status : Answered
; ; hosen Option :3
< 2. Hyperbolic
« 3. Parabolic
#< 4. Circular
Q.36 The constant vertical distance between two adjacent contour®i .
Question ID : 7508811639
Ans X 1. vertical equivalent Status : Answered
L 2 .
+ 2 contour interval \ Chosen Option :2
#< 3. horizontal interval Q
/< 4. horizontal equivalent
Q37 . _
rmined by: Question ID : 7508811617
Ans Status : Answered
Chosen Option : 2
< 4. Consistency
Q.38 ; ;
In ML.K.S. system the Unit of runoff is Question ID : 7508811669
Ans x 1. square metre Status : Answered
) Chosen Option :4
# 2. cubic metre
+ 3. cubic metre/sec
< 4 metre/sec
Q.39 ot '
Infiltration rate should be always: Question ID : 7508811670
Ans X 1. more than the infiltration capacity Status : Answered
Chosen Option :2
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' 2. equal to or less than the infiltration capacity
#< 3. less than the infiltration capacity
X 4
equal to or more than the infiltration capacity
Q.40 The turning of telescope about the vertical axis in horizontal plane is called as: .
. Question ID : 7508811633
Ans X 1. Reversing Status : Answered
Bl Chosen Option :3
v 2. Swinging P
X 3. Transiting
X 4. Plunging
Q41 i : o : :
Voids full of air of soil mass is known as: Question | 1852
Ans X 1. dehydrated soil s red
; ChoseOptio
v dry soil
#< 3. air entrained soil *
< 4. partially saturated soil
Q42 : 2k :
Which of the following is dimensionless? Question ID : 7508811668
Ans x 1. Speciﬁc volume Status : Answered
. < Chosen Option : 4
< 2. Specific weight \
V' 3. Specific gravity *
X 4. Specific speed \
Q43 T.he regulating valve is provided on the n centrifugal pump. Question ID : 7508811657
Ans x 1. casing Status : Answered
L : Chosen Option :1
v 2. delivery pipe
< 3. impeller
& 4. suctio
Q.44 : i o .
The specific gravity of commonly available OPC is: Question ID - 7508811679
Ans x 1. 2.05 Status : Answered
4 Chosen Option : 1
<2 492
V'3 315
<4 1.83
Q45 e 2 1
For 12 mm plastering with cement mortar the expected out turn is: Question ID : 7508811624
Ans %1, 2.0sqm Status : Answered
3 Chosen Option :4
/&< 2 4.0sqm
v 3 8.0sqm
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Ans

v

Q.46 Assumptions of Lane’s weighted creep theory include

triple weightage to vertical creep and one weightage to horizontal creep

< 2

double weightage to horizontal creep and one weightage to vertical creep

X 3.

triple weightage to horizontal creep and one weightage to vertical creep

X 4

equal weightage to horizontal and vertical creeps

Question ID

17508811678

Status : Not Attempted

Chosen Option

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

Q.47 The compacted dense sand is approximately equal to Relative density.
Ans X 1.1.20
X204
X306
4.0.95
v .
Q48 - » .
Fluid offers no resistance to change of Lestion ID : 7508811666
Ans x 1. pressure Status : Answered
Chosen Option :3
+ 2 shape
&< 3. flow L 4
& 4. volume \
Q49 T LB :
Levelling operation includes: \ Question ID : 7508811640
Ans x 1. 9 Status : Answered
The second sight on any chaige poififis a foresight. Chosen Option :1
_ *
)
The first sight on any point is a backsight.
V3
The line comumencesiwi ck sight and closes with a foresight.
X 4
The line conum with a fore sight and closes with a backsight.
Q.50 - e e semgic s
All soils possess at liquid limit: Question ID : 7508811645
Ans X 1. different shear strengths of small magnitude Status : Answered
Chosen Option :1
/< 2. same shear strength of large magnitude
' 3. same shear strength of small magnitude
/< 4. different shear strengths of large magnitude
Q51 By gravitational forces which soil is transported? Question ID - 7508811649
Ans x 1. Dune sand Status : Answered
Chosen Option :2
v 2. Talus
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/< 3. Loess
& 4 Drift
Q.52 hi i i is 2
T?le scale on which three dimensions can be measured is known as? Question ID : 7508811637
Ans x 1. Dlagﬂﬂﬂl scale Status : Answered
E : Chosen Option : 3
#< 2. Plain scale P

< 3. Shrunk scale

v Comparative scale

053 ‘Name the option which does not come under the remedial measures adopted for prevention of waterlogging:

Question ID : 7508811675
Ans

v 1. Seepage from canal system Status :

#< 2. Under drainage by tile drains Chosen Option :

/< 3. Reducing percolation from canals

#< 4. Efficient Surface drainage

Q.54 Survey in which the curvature of the earth is taken into account is called as: L 3
stion ID : 7508811631

Ans X 1. Plane surveying Status : Answered
3 : Chosen Option :4
& 2. Contouring
< 3. Chain surveying
W' 4. Geodetic surveying *
Q.55 - a J -
The surveyor's compass and prismati ass” Question ID : 7508811632
Ans x 1. Status : Answered
. . . . Ch Option : 4
both give Quadrantile Bearing (@B) of a line osen Bpfion
x> v
both give Whole Circle ific (WCB) of a line
< 3.
both give Quadrantile Bearing (| e and Whole Circle Bearing (WCB) of a line
v
give Whole Circle Bear! of a line and Quadrantile Bearing (QB) of a line respectively
Q.56 When the width is 10 sq.u area and excavation exceeding 1.5 m with depth not exceeding 30 cm,
it is termed as? Question ID : 7508811619
Ans x 1 Cutting Status : Answered
Chosen Option : 2
v 2. Surface excavation
#< 3. Dressing
/< 4. Excavation
Q_57 The lime stone and shales or their shury, is burnt in a rotary kiln at a temperature between to obtain cement dry
il Question ID : 7508811608
Ans X' 1. 1100°C and 1200°C Status : Answered

x 2. 1200°C and 1300°C Chosen Option :3

< 3. 1300°C and 1400°C
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v 4. 1400°C and 1500°C

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

Q.58 The percentage of water for making a cement paste of normal consistency varies from:
A ; Question ID :7508811609
ns ;
x 1. 3510 50% Status : Answered
W 2 2510 35% Chosen Option :3
& 3. 15t0 25%
< 4. 50 to 60%
Q59 p: : : g
Pick up the incorrect statement from the following: Question ID : 7508811627
Ans x 1. Status : Answered
h tion : 4
Areas are measured to the nearest 0.01 sq. m Chosen Option
v
Cubic contents are measured to the nearest 0.1 cubic meter
X s
Weights are measured to the nearest 0.001 tons
X
Dimensions are measured to the nearest 0.01 m *
Q.60 Name the method of irrigation which does not come under control flooding: )
Question ID : 7508811674
Ans  of 1. Wild flooding Status : Answered
: 5 Chosen Option : 1
< 2. Free flooding
X 3. Basin flooding ‘\
X 4. Borders Strips flooding
Q.61 - .
The common base used in a paingfis: Question ID : 7508811611
Ans x 1. {}ﬂl}’ oxide Status : Answered
¢ Chosen Option : 3
v 2. zinc oxide
#< 3. jron oxide
< 4. titanium
Q.62 i i i i >
For a unit hydr what is the best unit duration of storm? Question ID : 7508811672
Ans F equa sin lag Status : Answered
g Chosen Option :2
' 2. one-fourth of basin lag
/< 3. 1 hour
/< 4. one-half of basin lag
Q.63 The burning temperature of mixture of different ingredients of cement is: .
. Question ID : 7508811610
Ans 1. 1000°C Status : Answered
x 2. 1200°C Chosen Option : 4
v 3. 1400°C
< 4. 1600°C
Q.64 [
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‘What will be the area of cross-section if width (B) of formation. d is the height of the embankment. side slope S : 1. for Question ID : 7508811630
a highway with no transverse slope?
Status : Not Attempted
Ans )
v Bd + Sd- Chosen Option : -
K2 B+d+sd
X3 Bxd-sdl?
s i 2
< 4 1/2%(Bd + Sd?)
Q.65 A revised estimate is prepared if the sanctioned estimate exceeds . Due to change in price level.
Ans - : Question ID : 7508811628
x 1 4.0% Status : Answered
X< 2. 2.5% Chosen Option : 4
X 3 2.0%
v 4 5.0%
Q66 Using two theodolite method. setting out a curve is known as:
Ans X" 1. Linear measurements only
#< 2. One linear and one angular measurement
' 3. Two angular measurements only
#< 4. One linear and two angular measurements
Q.67 - , - 2
The back bearing corresponding to a fore bearing of 170 Question ID - 7508811643
Ans x 1. 170° TS Status : Not Attempted
1 Chosen Option : --
X 2. 80° \ P
W 3 3500 14
< 4. 260° \
Q.68 . C<
Seasoning 1s: . Question ID : 7508811618
Ans ( 1. a process of remov Status : Answered
Chosen Option :1
ilicate
Q.69 Of the quantity of water available in the biosphere. the percentage of water available in the oceans is
about: Question ID : 7508811677
Ans of 1. 073 Status : Answered
: Chosen Option :1
X2 937 P
X3 739
X 4793
Q70 Consolidation of concrete can be improved: Question ID : 7508811616
Ans x 1. before plachlg Status : Answered
Chosen Option :3
' 2. immediately before placing
< 3. immediately after mixing
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Q71 Granite is an example of:

Ans  of 1. Igneous rock
/< 2. Metamorphic rock

Question ID :

Status
Chosen Option

7508811653

:Answered
1

/< 3. Aqueous rock
/< 4. Sedimentary rock

Q72 Nfastic asphalt is generally used for: Question ID : 7508811612
Ans ' 1. damp proof course and water proof layer Chosen s;tz:' EA S"ered
X 2. water proof layer
#< 3. damp proof course
#< 4. partition walls
Q73

The most definitive estimate is:
Ans X 1. Cube rate estimate

stion ID
Status

17508811621
:Answered

E 2 P Chosen Option :3
/< 2. Plinth area estimate
« 3. Detailed estimate
/< 4. Preliminary estimate
Q.74 What will be the dry density of soil if A soil has a bulk density of 22 kN/m? and )
A ) Question ID : 7508811651
neoxX 18.6 kN/m° Status : Not Attempted
; 3 Chosen Option : --
<2 22,0 kN/m
<3232 N
23.2 KN/m *
v 4 20.0 kKN/m3

Q.75 The plasticity index P is accl tterberg. the soil is said to be of medium plasticity.

Ans Question ID : 7508811656
x 1< PRE Status : Answered
w27 Chosen Option :2
X3 17<PI 227
K 4 PI>27

Section : General Aptitude

Q.1 Who was appointed as the Chief Economist of the World Bank in July 20167 .

. Question ID : 7508811695

Ans X 1. Kaushik Basu Status : Answered
J 2. Paul Romer Chosen Option :2
< 3. Osborn Krueger
< 4. Jim Yong Kim

Q.2 What is the portfolio held by Thawar Chand Gehlot in the present cabinet of Narendra Modi?

[ Question ID : 7508811694
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Ans x 1. Consumer Affairs Status : Not Attempted
£ 5 Chosen Option : --
' 2. Social Justice and Empowerment
&< 3. Agriculture
# 4. Tribal Affairs
Q.3 i ¢ : : e 5
In which year did India host the Asian Games for the first time? Question ID : 7508811693
Ans “ 1. 1951 Status : Answered
x 2. 1982 Chosen Option :1
< 31993
X 4. 1977
Q.4 Which Mughal ruler introduced the Mansabdar (Chief Censor Of Morals) System?
A ; Question ID ;
ns x 1. Babar Statu empted
# 2. Shahjahan Chosen
< 3. Jahangir
L 4
v 4. Akbar
Q.5 During the reign of which Gupta ruler did the Chinese pilgrim. Fa Hien visit India?
A . Question ID : 7508811683
ns X 1. Skandagupta Status : Answered
Chosen Option :2
«' 2. Chandragupta II P
. L 4
/< 3. Kumaragupta \
& 4. Samudragupta *
Q.6 In which year was the Congress-League Pact signed to prom -] im unity in India?
Ans - Question ID : 7508811682
x 1.1927 Status : Not Attempted
V2 1916 'S Chosen Option : -
< 31921
x4 1912
Q7 : g
e Ienowrs s the Gangl] Yojanay Question ID : 7508811690
Ans Status : Answered
Chosen Option :1
< 3. First
& 4. Sixth
Q.8 Inwhich year was the National Rural Employment Guarantee Act (NREGA) passed in India?
Ans - Question ID : 7508811691
x 1. 1996 Status : Answered
< 2. 1990 Chosen Option :2
< 32003
v 42005
Q.9 I which year did India become a member of the International Monetary Fund (IMF)?
A ) Question ID : 7508811692
ns x 1. 1951 Status : Answered
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< 2. 1949 l Chosen Option :3 J
X 3. 1953
W 4 1947
Q.10 According to which amendment act of the Indian constitution was the strength of Lok Sabha increased to 5457
Ans - Question ID : 7508811689
x 1. 35ﬂ1 amendment Status : Answered
; Chosen Option : 2
X 2. 20t amendment
A 3 40t amendment
v 4 315 amendment
Q1 TWhere is the Dachigam sanctuary located in India? Question 1D - 7511657
Ans x 1. Kerala Status ; e
) ; Chosen Optio
< 2. Rajasthan
< 3. Goa

o 4 JTammu & Kashmir *

Q.12 Which article of the Indian constitution provides equal opportunities in matters of public employment?

A . uestion ID : 7508811688
ns o 1. Article 16

Status : Answered

x 2. Atticle 43 Chosen Option :2
# 3. Article 30 .
#< 4. Article 36

Q.13 Which country was placed fourth in medals tally at th&'Ri s in 20167

Question ID : 7508811696

Ans X 1. Brazil Status : Answered
x 2. France Chosen Option :1

< 3. China P
v % Russia
Q.14 : . ; q
What is the coastal pl outhern Zone in India called? Quesiion ID : 7508811686
Ans “ 1. Cor ndel ot Status : Answered
3 . Chosen Option :1
X 2 Ka oast

# 3. Pinakini Coast
< 4. Utkal Coast

Q.15 On which river is the Nagarjuna Sagar project in Telangana constructed? .
Question ID : 7508811685
Ans J 1. Krishna Status : Answered
x 2 Manjeera Chosen Option :1
/< 3. Cauvery
< 4. Godavari
Q.16 Acan do a piece of work in 20 days and B can do the same work in 30 days. In how many days will they complete the
prorIORE Ty Question ID : 7508811704
Ans X1 6 days Status : Answered

Nhncan Nntinn -2
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Q1 7 There are three numbers. The sum of the squares of these three numbers is 3724. The ratio of first to the second and as

Ans 1. 1204

alsf) second to the third is 3:5. What is the third number? QUeStiOn ID:7508811699
Ans x 1. 18 Status : Answered
x 2. 25 Chosen Option :1
v 3. 50
X 4. 30
Q.18 The interest on a sum of money at the end of 8 years is 4/5 of the sum. Find the rate of interest per annum.
Question ID : 7 1701

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

Status : ted
x 2. 11% Chosen Optio
< 3 14%
v 4 10%
Q.19 If the height and length of the shadow of a man are the same. then the angle of elevation of the sun is:
Ans - s tion ID : 7508811708
x 1. 30 Status : Answered
X 2. 9p° Chosen Option :1
W 3. 45°
< 4. 60°
Q.20 The average of 3 consecutive even numbers is 54. Fmd the 1 .
Question ID : 7508811706
Ans « 1. 56 Status : Not Attempted
x 2. 54 Chosen Option : ==
<3 50
X452 *
Q21 A car can finish certain distance in 20 hours at a speegh 60 cover the same distance in 16 hours. what should be
fepesdptic cad Question ID : 7508811705
Ans 1. 65 kmph Status : Answered
. Chosen Option :4
< 2. 60 kn
25 3. 15 kn
' 4. 75 kmph
az 7 Question ID : 7508811710
: uestion ID :
Ifv35 = 5.916 then the value of i Status : Not Attempted
Ans x 1 11.832 Chosen Option : --
X 2.0.1823
W 3 1.1832
X 4 1.1864
Q.23 - : :
If 5,x. 125 are in proportion. then find the value of x. Question ID - 7508811700
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Ans x 1. 75
<2 50

Status : Answered

Chosen Option : 3

3 25
< 4. 100

Q24 1f p-1. p+3. 3p-1 are in AP then find p.
Ans x 1.7
v?2

Question ID :
Status :
Chosen Option :

7508811707
Not Attempted

4
<33
K41

Q.25 Four persons start running simultaneously from a place on a circular track and take 800 seconds,
600 seconds, 400 seconds and 300 seconds respectively to complete one round. How long will
they take to meet at the starting point?

Ans X 1. 60 minutes

< 2. 100 minutes
V' 5 120 minutes

. L 4
#< 4. 80 minutes
Q.26 ; ; 4 8 10 . i
How many times the HCF of the fractions = S o is their LCM? Question ID : 7508811697
’ Status : Not Attempted
Ans 1.
x 1260 Chosen Option : --
v 2 420 *
& 3. 560 \
: 2
< 4. 840
Q27 which of the following are the roots of the Qua on: 4x2+3x-1=0? Question ID : 7508811711
Ans “ 1. =1 or 14 Status : Answered
x 2. 1or Y * Chosen Option : 4
< 3 1or-%
X4 -lord
Q28 12 kg of sugar costing T 20 and B kg of sugar costing ¥ 30 per kg are mixed. What is the price per kg of the
restftantynidre Question ID : 7508811703
Ans X4 F 22 Status : Not Attempted
Chosen Option : --
V2 ¥2333
< 3. T21.33
K 4. T24.50
Q.29 2 4co0
T 1-tan” 45 Question ID : 7508811709
" 1+tan?® 45° Status : Answered
Ans x 1 Chosen Option : 4

i |
3
X3 2
0
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Q.30 Ravi bought an I-pad for T 75.000/-. For how much should he sell it to gain 4247
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Question ID : 7508811702
Ans “ 1. ? ?Sﬂﬂﬂﬂf- Status : Answered
XZ ?SU 000/ Chosen Option :1
< 3. ¥79,000/-
X 4. T 76,000/-
@31 Which character can be replaced with question mark? Question ID - 7508811716
Status : Not Attempted
Chosen Option : --
B
= L \
Ans x 1. H @
X 21
VAN
X4 G &
@32 Complete the series: Question ID : 7508811719
Status : Answered
6859, 3375, 1331, 7 Chosen Option : 1
Ans X' 1. 521
& 2. 1000 \
<3 729 A
Vv 343
Q33 Complete the series: Question ID : 7508811720
Status : Answered
361, 9261.. 529, 15625 Chosen Option :1
Ans  of 1729
< 2. 7305
< 3 3125
<4119
Q34 Complete the series: Question ID : 7508811717
Status : Not Attempted
FU, HS, KP, ? Chosen Option : --
Ans “ 1. OL
X2 ST
X3 08
< 4 QR
Q35
Question ID : 7508811725
Status : Answered
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Look at the pictures above. Each of them follows a trend.
Identify and pick the correct number for the question mark.

Ans of 1. 114
X2 75
<3214
X 4 82

l Chosen Option :1
2 3 4
3133 2 4 |54| 2 51213

4 5 8

Q.36 If in a certain code. QUTE is written as RUTE and GATE is written as HATE, Quesion ID
then how will CLUE be written in that code? uestion
Ans ( Statu swered
' DLUE Chosen
X 2. SLUE
X 3. GLUE
, L 4
X 4. FLUE
Q37 Alshita is moving South initially. turn left. then turn right. then turn right. then turn left in which direction now Akshita
Biavig oy Question ID : 7508811724
Ans J 1. South Status : Answered
x 2. North Chosen Option : 2
< 3. West
< 4. East
Q_ 8 Ina series of Tennis matches. Country A defeated country B twice, country
defeated country C twice. Country A defeated country D twice. and countr Question ID : 7508811715
country has lost more number of times?
Ans x ] B Status : Not Attempted
- country ¢ Chosen Option : --
W 2. country D
/< 3. country A
/< 4. country
Q 39 —_ — = 0
IfE=S5 7. how will you code HOTEL? Question ID : 7508811722
Ans x 1. 24 Status : Not Attempted
X 2.2 Chosen Option : --
3 12
K410
Q.40 Choose the best fit for the word Aero plane that shares a relation same as in the first pair:
Question ID : 7508811714
Train: Passenger : : Aeroplane : ? .
Status : Answered
Ans x 1. Adrhostess Chosen Option :1
< 2. Astronaut
< 3. Pilot
v 4 Aeronaut
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Q41 = = i
If ZAP = 246 and VIP = 222, then how will you code ZIP? Question ID - 7508811721
Ans x 1. 189 Status : Not Attempted
x 2. 891 Chosen Option : --
V'3 198
X 41999
Q42 3 i g
Complete the series given below: Question ID : 7508811713
Status : Answered
G2t i807 Chosen Option : 3
Ans x 1. 12
X219
V'3 20
X< 410
Q43 100k at the pictures below. Each of them follows a trend. :
Identify and pick the correct number for the question mark. Statlis : Not Attempted
Ch 8ption 1--
g 2 5 2 6
384 120 ?
6 4 4 2 4
Ans x 1. 240
\ 4
V2 144 \
X 3. 264
<4121
Q.44 -
Complete the series: Question ID : 7508811718
'S Status : Not Attempted
al, y3. €5, ? Chosen Option : --
Ans o 1. M7
X 2. 56
< 3 m6
X 4. 57
Q_4 5 Akshay is the father of Susmita and Kiran is the son of Amala. Eeshwar is brother of Akshay. If Susmita is sister of
Kiran, how is Amala related to Eeshwar? Question ID : 7508811712
Ans " 1 Daughter Status : Answered
. ¢ Chosen Option : 4
< 2. Brother-in-law
3. Husband
V' 4. Sister-in-law
Section : General English
Comprehension Passage:
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Read the passage given below and then answer the five
questions that follow it by choosing the best option:

Even now, well into the second decade of the 21st century.
we tend to view video games as a guilty pleasure. For
anyone over the age of 25. they're often something you
sneak off to do when no one is at home. They’re a
secretive indulgence, filled with the cultural equivalent of
empty calories.

Partly this is to do with how video games have been
marketed for the last 30 years — mostly at teenage boys.
The games industry has taught us to see games as loud.
rude, and mysterious. On top of this. the most visible titles
tend to conform to familiar stereotypes: Call of Duty 1s
about killing enemies: Candy Crush Saga is about killing
time. Because teenagers bury themselves in these games.

thinking and personality.

"

they don’t see how these corporate entities creep into their 0 .

game design. The democratisation of the mediur
through cheap development tools and the rise
broadband — has brought in new voices and4

Fascinating things are happening. \

- )
In a lot of important ways. almost alh g ; can be shared.
Couples can bond better when t an and play
adventure games together. takingfurgs with the controls,
helping each other. discussifag tasucs and options. Playing
video games with your K a domain they enjoy and
feel comfortable. is a experience. It lets them take
the lead: it lets the w vou stuff. The skills are also
transferable an xXpand into the real world. Watching
h play reveals hidden aspects of their

racter. Incidentally, games can offer
practice in talk¥hg to machines.

But. the last five years has seen a huge rebirth in v@
ef*fast

SubQuestion No : 1

The author, in the passage, does NOT convey
the idea that:

v

Question ID : 7508811728
Status : Answered
Chosen Option : 4

videogames have always been good and universal

X 2

in their evolution. videogames have widened their user-base

X 3.

changes in videogame design have led to welcome effects on the players

F 3
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videogames might have been teen-centric and
harmful. but are no longer so

Q.2

An
s

Comprehension Passage:

Read the passage given below and then answer the five
questions that follow it by choosing the best option:

Even now, well into the second decade of the 21st century.
we tend to view video games as a guilty pleasure. For
anyone over the age of 25. they're often something you
sneak off to do when no one is at home. They’re a
secretive indulgence, filled with the cultural equivalent of
empty calories.

Partly this is to do with how video games have been
marketed for the last 30 years — mostly at teenage boys.
The games industry has taught us to see games as loud.
rude, and mysterious. On top of this. the most visible titles

tend to conform to familiar stereotypes: Call of Duty 1s ‘

about killing enemies: Candy Crush Saga is about kil
time. Because teenagers bury themselves in these gam
they don’t see how these corporate entities cree

thinking and personality.

0\

But. the last five years has seen a huge r N vid€o
game design. The democratisationyofghe fe

through cheap development tools m& e of super-fast
broadband — has brought in newgfvoicgMand ideas.

Fascinating things are happening

In a lot of important wa os‘t all games can be shared.
Couples can bond be 1 they sit down and play
adventure games f ., taking turns with the controls,
iscussing tactics and options. Playing
your kids. in a domain they enjoy and
.15 a joyous experience. It lets them take
the lead; it lets"them show vou stuff. The skills are also
transferable and can expand into the real world. Watching
our friends through play reveals hidden aspects of their
personality and character. Incidentally. games can offer
practice in talking to machines.

SubQuestion No : 2

Changes in videogame design have brought in new ideas:
therefore, videogames are no longer:

< 1. necessarily loud and rude

Question ID :7508811729
Status : Answered
Chosen Option : 4

« 2. exclusive but shareable with others

#< 3. a secretive indulgence
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/< 4. targeted at the teenagers and their likes

Q3

An
s

Comprehension Passage:

Read the passage given below and then answer the five
questions that follow it by choosing the best option:

Even now, well into the second decade of the 21st century.
we tend to view video games as a guilty pleasure. For
anyone over the age of 25. they're often something you
sneak off to do when no one is at home. They’re a
secretive indulgence, filled with the cultural equivalent of
empty calories.

Partly this is to do with how video games have been
marketed for the last 30 years — mostly at teenage boys.
The games industry has taught us to see games as loud.
rude, and mysterious. On top of this. the most visible titles
tend to conform to familiar stereotypes: Call of Duty 1s
about killing enemies: Candy Crush Saga is about killin
time. Because teenagers bury themselves in these ga

they don’t see how these corporate entities creep into

thinking and personality.
But, the last five years has seen a huge réb @
game design. The democratisation of th 1

through cheap development tools andgthe\wise%of super-fast
broadband — has brought in new 1-'0& ideas.
Fascinating things are happening.

ost all games can be shared.
they sit down and play
King turns with the controls,
155ing tactics and options. Playing
ids. in a domain they enjoy and
feel comfor 15 a joyous experience. It lets them take
the lead; 1 show you stuff. The skills are also
transferable and can expand into the real world. Watching
our friends through play reveals hidden aspects of their
personality and character. Incidentally, games can offer
practice in talking to machines.

In a lot of important ways,
Couples can bond better
adventure games fog

helping each other i
video games w¢

SubQuestion No: 3

The third paragraph observes that in videogame designing
‘new voices and ideas” have been brought in: the word
‘voices’ as used here refers to:

Question ID : 7508811730
Status : Not Attempted
Chosen Option : --

v
conversation between couples or parents and children
while playing new video games
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video-games being able to hear and respond
" to what players say aloud

N different opinions about and attitudes to the
game-design acceded to by designers
5 4
imaginary speeches heard by insane people in their minds,
especially during gaming

Q4

Comprehension Passage:

Read the passage given below and then answer the five

questions that follow it by choosing the best option:
Even now, well into the second decade of the 21st century. \
we tend to view video games as a guilty pleasure. For

anyone over the age of 25. they’re often something you
sneak off to do when no one is at home. They’'re a
secretive indulgence, filled with the cultural equivalent of .

empty calories.
Partly this is to do with how video games have been &

The games industry has taught us to see g
rude, and mysterious. On top of this, thesn
tend to conform to familiar stereotypes:
about killing enemies: Candy Crugh
time. Because teenagers bury thems@lvesun these games.
they don’t see how these corporgte entibies creep into their
thinking and personality.

But. the last five years h 1 a‘huge rebirth in video
game design. The de jsation of the medium —
through cheap dev 1ent tools and the rise of super-fast
broadband — h in new voices and ideas.
Fascinating i are happening.

In a lot of impP®rtant wavs. almost all games can be shared.
Couples can bond better when they sit down and play
adventure games together. taking turns with the controls.
helping each other, discussing tactics and options. Playing
video games with your kids. in a domain they enjoy and
feel comfortable. 1s a joyvous experience. It lets them take
the lead: it lets them show vou stuff. The skills are also
transferable and can expand into the real world. Watching
our friends through play reveals hidden aspects of their
personality and character. Incidentally, games can offer
practice in talking to machines.

SubQuestion No : 4
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Question ID : 7508811731

Status : Answered
« 1. widening the audience-base Chosen Option : 4

X 2

collectively taking decisions about videogame design

The democratization of the medium means:
An
S

#< 3. conducting elections in the industry

< 4
making changes whereby older adults and women.
besides children. were included

Comprehension Passage:

N
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Read the passage given below and then answer the five
questions that follow it by choosing the best option:

Even now, well into the second decade of the 21st century.
we tend to view video games as a guilty pleasure. For
anyone over the age of 25. they're often something you
sneak off to do when no one is at home. They’re a
secretive indulgence, filled with the cultural equivalent of
empty calories.

Partly this is to do with how video games have been
marketed for the last 30 years — mostly at teenage boys.

The games industry has taught us to see games as loud.
rude, and mysterious. On top of this. the most visible titles
tend to conform to familiar stereotypes: Call of Duty 1s

about killing enemies: Candy Crush Saga is about killing
time. Because teenagers bury themselves in these games.
they don’t see how these corporate entities creep into their
thinking and personality.

But. the last five years has seen a huge rebirth in 1@
ef*fast

*

game design. The democratisation of the mediur
through cheap development tools and the rise
broadband — has brought in new voices an

Fascinating things are happening. \
In a lot of important ways, alm-:}st‘ $ can be shared.
Couples can bond better when t an and play
adventure games together. takingfurgs with the controls,
helping each other. discussifag tagncs and options. Playing
video games with your K a domain they enjoy and
feel comfortable. is a experience. It lets them take
the lead; it lets the w yvou stuff. The skills are also
transferable an xXpand into the real world. Watching
otigh play reveals hidden aspects of their

racter. Incidentally, games can offer
practice in talk¥hg to machines.

SubQuestion No : 5
@5 Which ONE of the following is NOT a difference Question ID 7508811732

between older and newer designs? Status : Not Attempted
Chosen Option : --

« . chance to show-off gaming skills

An
S
< 2. target audience

< 3. developing healthier attitudes
#< 4. collective play

Q.6
Question ID : 7508811756
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Transform the following sentence into Reported Speech:

The manager said, “Confirmation of his program will arrive soon by fax.”

Ans x1_

The manager said that confirmation of his program will arrive shortly by fax.

X2

The manager said that confirmation of his program would arrive immediately by fax.

v &)

The manager said that confirmation of his program would arrive soon by fax.

X 4

The manager said that confirmation of his program would have arrived shortly by fax.

Status : Answered
Chosen Option :3

The police have filed the charge sheet in the crime. naming a popular leader as the accused.

Ans X1_

The charge sheet in the crime, a popular leader being named as the accused. was filed by the police.

v &)

The charge sheet in the crime, naming a popular leader as the accused. has been filed by the police.

X 3.

The charge sheet in the crime. a popular leader being named as the accused. had been filed by the police.

X 4

The charge sheet in the crime. a popular leader being named as the accused, has been filed by the police.

Q.7 Transform the sentence in active voice into a sentence in passive voice: decide if the agent is o be retained or not:

Question ID : 7508811765
Status : An red
Chosen Option 4

Q.8 Transform the sentence in active voice into a sentence in passive voice: decide if the agent is to be retained or not:

Schools are teaching students to memorize content. including problems and their solution

Ans J1_

Students are being taught by schools, to memorize content including problem*d

X2

Students are taught to memorize content, including problems %d their sols

(=]

hools.

n b;
Xs
Students are to be taught to memorize content, including pme olution by schools.

X 4

d
Students are being taught to memorize content. @acluding problems and their solution.

Question ID : 7508811764
Status : Answered
Chosen Option :2

Q.9 Choose the antonym or the word whichyis eaning to the underlined words:

Ans X 1. Calm
< 2. Relax
\f3- Cor

& 4. Deficient

Question ID : 7508811781
Status : Answered
Chosen Option :4

Q.10 Choose the correct preposition from the options given against each and complete the text:

‘Wu perceived a recurring cycle the evolution of technologies.

Ans  of 1 in
< 2 at
X 3 on
X 4 of

Question ID : 7508811747
Status : Not Attempted
Chosen Option : --

Q.11 Choose the antonym or the word which is of contrary meaning to the underlined words:

Maintain a clear distinction between news, critical analysis. and opinion

Ans

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

Question ID : 7508811783
Status : Answered
Chosen Option : 2
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/< 1. Uniqueness
/< 2. Openness
v 5 Union

#< 4. Excellence

Q.12 Which of these adverbs is the most suitable to complete the sentence:

Aliis planning to go tonight.
Ans  of 1 still

Question ID : 7508811737
Status : Answered
Chosen Option :4

< 2. always
& 3. until
< 4 often

Q.13 Choose the antonym or the word which is of contrary meaning to the underlined words:

The world has changed but the principles remain vital for us: fairness and justice.

Ans X 1. Black
' 2. Partiality
/< 3. Difference
/< 4. Wrong

Q.14 Choose the word which is closest in meaning to the undel @’

The writer did not want to lnut anyone’s ego. but reveal eal 1

Ans  of' 1. Disclose

Question ID : 7508811773
Status : Answered
Chosen Option :1

< 2. Picture
X 3. Enclose

Q15 Transform the following s to Reported Speech:

Question ID : 7508811759
Status : Answered
Chosen Option :2

I asked Mary. g to your approved schedule?”
Ans x 1.
I want to kno to what is happening to her approved schedule.

I questioned Mary about what is happening to her approved schedule.

X 3.

I wanted to know from Mary as to what had been happening to her approved schedule.

v &

I questioned Mary about what was happening to her approved schedule.

Q.16 Fill in the blank by choosing the best option:

Temperatures in Delhi are

Ans X 1. forecasts

to drop further next week.

Question ID : 7508811754
Status : Answered
Chosen Option : 2

v 2. forecast

/< 3. forecasteing
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Ans

Q 47 Transform the following sentence in reported speech into Direct Speech, paying attention to the punctuation marks used:

The Reserve Bank announced that since that day was a National Holiday. it had no fresh directions for the customers.

F R0

Question ID : 7508811761
Status : Not Attempted

The Reserve Bank had announced. “Since today was a National Holiday, we had no fresh directions for the customers.™ Chosen Opt|0n o=

X 2

The Reserve Bank announces, “Since today is a National Holiday. there are no fresh directions for the customers.™

v &)

The Reserve Bank announced, “Since today is a National Holiday. we have no fresh directions for the customers.”

X 4

The Reserve Bank announced. “Today is a National Holiday. No fresh directions for the customers.”

Q.18

Ans

Fill in the blank by choosing the best option:

information consumes is rather obvious: it consumes the attention of its recipients.

#< 1. When
/< 2. Which
v 5 What
# 4 How

Question ID : 7 1749
Status : d

Q.19 Choose the correct preposition from the options given against each and complete the text:

More likely is that they have never before had the mechanism

Question ID : 7508811744

ealing it.
feveaiing 1 Status : Answered

She sang that song very

Ans ( 1. for Chosen Option :1
< 2 at
< 3 in
X 4. by

Q.20 Which of these adverbs is the most suitable t

Question ID : 7508811739
Status : Answered
Chosen Option :3

Ans X 1. silently
X 2. long
V'3 well
< 4. good
Q21

Choose the word which is closest in meaning to the underlined word:

Question ID : 7508811778

In the world of Madagascan sapphire mining. there are few rules. Status : Answered

Chosen Option :2

Ans

Ans o 1. Society
X 2. Culture
/< 3. Place
/< 4. Environment
Q.22 Choose the antonym or the word which is of contrary meaning to the underlined words:

Reality can conceal truths and thus may not be visible.
& 1. Declare
/< 2. Confuse
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V' 3. Reveal
/< 4. Open

Q.23 Choose the correct preposition from the options given against each and complete the text:

Question ID : 7508811740

How you cooperate on video game tasks indicates how you will cope real-life challenges.
Status : Answered

Ans X1_ on
< 2 by
&3 in
v 4 with

Chosen Option :4

Q.24 Transform the sentence in passive voice info a sentence in active voice; pay attention to the agent used:

Question ID : 7 11768
Status : An ed
Chosen Optio

He was charged with lying under oath and murder by the police but was acquitted by the court.

Ans x1_

The police charged him for lying under oath and murder but the court acquitted him.

X2

The police charged him with lying under oath and murder but was acquitted.

3

The police charged him with lying under oath and murder but the cowt acquitted him. *

K 4

The police charged him with lying under oath and murder but the court acquitted he.

Q.25 Filli i ion:
Fill in the blank by choosing the best option: Question ID : 7508811752

Where should the line between humans and cyborgs be Status : Answered
Ans  of 1 drawn \ Chosen Option :1
< 2. drew ¢
< 3. drawing \
< 4. draw
Q26 Which sentence has the adv the correct position? Question ID : 7508811734

Ans X 1. They definit
< 2. They ar
/< 3. The
o 4. They

ad for each other. Status : Answered
Chosen Option : 1

each other definitely.
ited for definitely each other.

efinitely suited for each other.

Q27 Transform the sentence in active voice into a sentence in passive voice: decide if the agent is to be retained or not:

The players, after winning the match, gave their views and comments to the anchor. QUeStIOn ID:7508811766
. Status : Answered
Ans x 1.

Chosen Option : 4

The anchor was to be given their views and conmunents by the players. after the match was won.

X2

The anchor gave their views and comments by the players. after having won the match.

v 5

The anchor was given their views and comments by the players. after having won the match.

X 4

The anchor has been given their views and comments by the players, after having won the match.

Q.28 [

Question ID : 7508811753 ]
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Fill in the blank by choosing the best option:

In Rome. the fountains in St Peter’s Square overnight and dripped icicles instead.

Status : Answered
Chosen Option : 4

Ans X1 frozing
v 2 froze
< 3. frozen
K 4. freezed

Q.29 Fill in the blank by choosing the best option:

His gesture to the forefront long simmering questions about prejudice and persecution in society.

Ans  of 1. brought

Question ID : 7508811755
Status : Answered
Chosen Option :1

#< 2. bring
< 3. brung
< 4. bringed

Q30 Transform the following sentence in reported speech into Direct Speech, paying attention to the punctuation marks used:

‘When his wife teld him that she managed to get some money from the ATM next door. the husband replied that even the
machine was afraid of her.

2

was afraid of her.”

< 4
“I managed to get some money from the door.”
“Even the machine is afraid of you.”

Wife to husband: “I managed to get some money from the ATM next door,
Husband to wife: “Even the machine is afraid of you!”

X3 ®
“Wife told the husband. “T manage to get some money from the ATM next door.”” Husband replied. g8y ach:

QuestiohID : 7508811763

8atus :Not Attempted
Ans x )
1. Cho Option : --
‘When the husband replied. “Even the machine was afraid of her.” the wife had already told the husband. “I manage get
some money from the ATM next door.”
J 2. 0

Q.31 Transform the sentence in passive voice into a sentence imactive voice? ttention to the agent used:

ing paﬁ anticipating elections.
Ans

Question ID : 7508811771
Status : Not Attempted
Chosen Option : --

The ruling party g

v 2

The ruling party, anticipating elections, gave the long wall a fresh coat of white paint.

ng wall. anticipating elections, a fresh coat of white paint.

Q.32 Transform the sentence in passive voice info a sentence in active voice; pay attention to the agent used:

All the decisions of the officials were reviewed by the ministers concerned.

Ans J1_

The ministers concerned reviewed all the decisions of the officials.

Question ID : 7508811770
Status : Not Attempted
Chosen Option : --

X 2

The ministers concerned have reviewed all the decisions of the officials.

X 3.

The ministers concerned will review all the decisions of the officials.

X 4

The ministers concerned review all the decisions of the officials.

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

30/36



25/03/2017 Qp.html

Q.33 i rerbs 1 i T
Which of these adverbs is the most suitable to complete the sentence Question ID : 7508811738

we went dancing. Status : Answered

Ans o1 last night Chosen Option :1
#< 2. next night
< 3. tonight
#< 4. nights

Q.34 Filli i ion:
Fill in the blank by choosing the best option: Question ID : 7508811750

The wealth of information a shortage of something else. Status : Answered

Chosen Option : 2
Ans o 1 exists

&< 2. includes
/5 3. means

< 4. reads

Q.35 Choose the antonym or the word which is of contrary meaning to the underlined words: ’
stion ID : 7508811780
The challenge now is to go to the next stage. Status : Answered
Ans x 1. First Chosen Option : 2
# 2. Later

#< 3. Original
_ *
v 4 Previous \

Q36 Transform the following sentence in reported speech into Direct Speech, paying a‘n‘o uncfilation marks used:
He says that lowering of interest rates would have a great impact on the housing sector. QUeStIOn ID :7508811762
Ans x 1 Status : Not Attempted
He tells, “Lowering of interest rates will have a great ifpact e housing sector.” Chosen Option : --
<2 .
“Lowering of interest rates should have a great in housing sector.” is what he is saying.

v &)

He says. “Lowering of interest

X 4

He highlights, “Lowegsi

: will have a great impact on the housing sector.”

interestrates has a great impact on the housing sector.”

Q.37 3 T i N i 051
Which senter as the adverb in the correct position? Question ID - 7508811735

Ans 1. She quite often invites people for Diwali. Status : Answered
Chosen Option :1

#< 2. Often she quite invites people for Diwali.
#< 3. She often quite invites people for Diwali.
< 4. She quite invites people for Diwali often.

Q.38 Choose the correct preposition from the options given against each and complete the text:
Question ID : 7508811742
Who polices the truth the internet?

— Status : Not Attempted
Ans X 1. at Chosen Option : -

< 2 in
v 3 on
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Q.39 Which of these adverbs is the most suitable to complete the sentence:

. Question ID : 7508811736
Ans x 1. Status : Answered
The methodical Customs officer checked all the bags. Chosen Option :3

v )
The Customs officer methodically checked all the bags.

& 3.

Methodically the Customs officer checked all the bags.

X 4
The Customs officer checked methodically all the bags.

Q40 Choose the correct preposition from the options given against each and complete the text:
Only a thread 20 kilometres (12.4 miles) of ice is keeping a 5.000 square kilometre piece from breaking away. Questlon I, 1
A 3 3 Statu swered
ns X 1. in
Chosen Optiony:

X 2 at
< 3. by *
v i of

Q.41 Transform the following sentence into Reported Speech:

Question ID : 7508811757
Status : Not Attempted
Chosen Option : --

“This hat here is what I"ve been looking for all the while.” said the hero, “pack it and send it home tomorroya’

Ans x1_

The hero declared that a hat there was what he had been looking for all the while and asked th pa and
to home by tomorrow.

v: \
The hero declared that. that hat there was what he had been looking for all the whide and asked theiitto pack d send

it to his house by the next day.

x 3. \
The hero declared that the hat there was what he was looking for all the while and askedgthe: pack it and send it to

his house by the next day.

K 4

The hero declared that that hat there was what he has been
it to his house by the next day.

1l the ‘le and asked them to pack it and send

Q.42 Choose the correct preposition from the opt; inst each and complete the text:

Question ID : 7508811741

Why has the internet triggered so_imm
Status : Answered

Ans J1lﬂ
< 2. wit
< 3 on
X 4. for

Q.43 Choose the word which is closest in meaning to the underlined word:

urge the popularity of conspiracy theories?

Chosen Option :2

Question ID : 7508811777

Ans - Vi Status : Answered
x o o Chosen Option : 3

/< 2. Acceptance
' 3 Approval
# 4. Thanks

The Army has given the thumbs-up to a heavy artillery gun. Advanced Towed Artillery Gun System (ATAGS).

Q.44 . - : - SES ]
‘Which sentence has the adverb in the correct position? Question ID - 7508811733

Ans Status : Answered
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Chosen Option : 3

When the penalty was scored, a draw was much very on the cards.

< 2

When the penalty was scored, a draw was much on the very cards.

X 3.

When the very penalty was scored, a draw was much on the cards.

v 2

When the penalty was scored, a draw was very much on the cards.

Q.45 Transform the sentence in passive voice into a sentence in active voice: pay attention to the agent used:
The leader, who was elected by members of the assembly. was rejected by the high command.

Ans x1.

The high command rejected the leader who members of the assembly had elected.

Question ID : 7508811769
Status : Not Attempted
Chosen Option : --

X 2

The high command had rejected the leader whom members of the assembly elected.

p 3

The high command rejected the leader members of the assembly had elected.

v 23

The high command rejected the leader whom members of the assembly had elected.

Q 46 Transform the following sentence in reported speech into Direct Speech, paying attention to the punctuation marks used:

The governor said that he has officially informed the central government that law and order had completely collapsed in
the state.

Ans X1.

The governor said. “T have officially informed the central government that law and order had completely collaj
the state.”

v .

The governor said, “I have officially informed the central government that la d has
completely collapsed in the state.”
i ‘\

The governor says. “I had officially informed the central government that law and order completelycollapsed in the

state.”
X 4
The governor says. “I officially informed the central government that law and completely collapsed in the

state.”

4

uestion ID : 7508811760
Status : Not Attempted
Chosen Option : --

Q.47 Choose the correct preposition from the options inst each and complete the text:

“Net neutrality™ has turned out to be a ke’

Ans x1. of

regulation of the internet.

Question ID : 7508811746
Status : Answered
Chosen Option : 1

' 2. about
X 3. aro
< 4 in

Q.48 Choose the word which is closest in meaning to the underlined word:

The essay had to be failed as it was full of errors.

Ans X 1. Words

Question ID : 7508811774
Status : Answered
Chosen Option :3

X 2. Assumptions
' 3. Mistakes
X< 4. Gaps

Q.49 Choose the word which is closest in meaning to the underlined word:

India is emerging as a popular destination for wedding tourism.
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Ans X 1. Goal l Chosen Option :2 J
X 2. Origin
#< 3. Fate
v 4 Place

Q50 Fill in the blank by choosing the best option:

Question ID : 7508811751
Status : Answered
Ans 1. see Chosen Option : 2

& 2. learn
o 3 sense

5 4 use

Q.51 Choose the word which is closest in meaning to the underlined word:

Knowing where north is has had great significance for humans across cultures. and yet it’s always been something that
we discover. rather than directly.

Question | 8811772

The chorus described and commented upon the main action of a play. ered

Ans X 1. Recorded
v 2. Remarked
< 3. Described

< 4. Rewarded
Q.52 Choose the word which is closest in meaning to the underlined word: .
Question ID : 7508811776
Videogames heroes take up a larger amount of people’s i.ma& tiomto Status : Answered
Ans 1. Actors Chosen Option : 4
L 4

#< 2. Persons
< 3. People \

+ 4. Supermen

Q.53 Choose the word which is closest in meaning to the undg]

Question ID : 7508811775
Status : Answered

Memory games can be taught to people so thafifhey

Ans X' 1. Hatreds
v 2. Aversion
< 3. Resi
& 4. Attitude

ikes and dislikes, especially in matters of diet.

Chosen Option : 3

Q.54 Choose the antonym or the word which is of contrary meaning to the underlined words: .
Question ID : 7508811785
An alarming dip in water table across districts has been reported. Status : Not Attempted

Ans X 1. Waking-up Chosen Option : -
X 2. Happy
/< 3. Ringing
W 4 Assuring

Q.55 Choose the correct preposition from the options given against each and complete the text:
Question ID : 7508811743

Denial tells the story of a courtroom battle an author to prove the Holocaust took place.
¥ - ? p Status : Answered

Ans
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Chosen Option : 4

Q 56 Choose the antonym or the word which is of contrary meaning to the underlined words:

Pilgrims are allowed to undertake the boat journey only after an assurance to the authorities that they will return as soon
as the festival ends

Ans < 1. Punished
< 2. Arrested
v 3. Banned
#< 4. Detained

Question ID : 7508811786
Status : Answered
Chosen Option :3

Q_57 Transform the sentence in active voice into a sentence in passive voice: decide if the agent is to be retained or not:

He is going to invite all his friends to his wedding.

Ans j 1.
All his friends are going to be invited to his wedding.

X 2.
All his friends is going to be invited to his wedding

#< 3. All his friends are invited to his wedding.

X 4
All his friends will be invited to his wed

Q.58 Transform the following sentence into Reported &
b4
1 100W."”

I to Mary. “You must observe a tighter sch

Ans x1.

I directed Mary that she should observe a tig

< 2

I directed Mary that she need observe : schedule from that moment.

v

I directed Mary that she has

K 4

I directed Mary 1as to observe a tighter schedule from now.

dule from now.

‘e a tighter schedule from that moment.

N

Question | 1767

S red
ChoseqOptio
L 4

Question ID : 7508811758
Status : Answered
Chosen Option :1

Q.59 Choose the antonym or rord which is of contrary meaning to the underlined words:

The agricultural sector is reeling under the impact of a failed monsoon.

Ans  of 1. Successful
< 2. Excellent
< 3. Winning

X 4. Victorious

Question ID : 7508811784
Status : Answered
Chosen Option :1

Q.60 Fi]l in the blank by choosing the best option:
Tt really was classic story of the party that went sour.
Ans x 1. Qne

/X 2. any

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

Question ID : 7508811748
Status : Answered
Chosen Option :4

35/36



25/03/2017
< 3. this
“4- the

Qp.html

file:///C:/Users/AOEC %20New/Downloads/Qp.htmI#

36/36





